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Instructions for the Candidates

. Write your Roll Number in the space provided on the top of this page.

This paper consists of one hundred (100) multiple choice type of questions. All questions are compulsory.

. At the commencement of examination, the question booklet will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below :

(i) To have access to the Question Booklet, tear off the paper seal on the edge of this cover page. Do not accept a booklet
without sticker seal and do not accept an open booklet.

(ii) Tally the number of pages and number of questions in the booklet with the information printed on the cover page.
Faulty booklets due to pages/questions missing or duplicate or not in serial order or any other discrepancy should
be got replaced immediately by a correct booklet from the invigilator within the period of 5 minutes. Afterwards,
neither the Question Booklet will be replaced nor any extra time will be given.

(iii) After this verification is over, the Test Booklet Number should be entered on the OMR Answer Sheet and the OMR
Answer Sheet Number should be entered on this Test Booklet.

. Each item has four alternative responses marked (A), (B), (C) and (D). You have to darken the oval as indicated below on
the correct response against each item.

Example: (A @ CC (DD where (B) is the correct response.

. Your responses to the items are to be indicated on the OMR Answer Sheet under Paper — II only. If you mark your
response at any place other than in the oval in the OMR Answer Sheet, it will not be evaluated.

. Rough Work is to be done in the end of this booklet.

. If you write your Name, Roll Number, Phone Number or put any mark on any part of the OMR Answer Sheet, except
for the space allotted for the relevant entries, which may disclose your identity, or use abusive language or em%log any
g}ber a‘inﬁfau means, such as change of response by scratching or using white fluid, you will render yourself liable to

u cation.

; Yostﬁ have to return the original OMR Answer Sheet to the invigilator at the end of the examination compulsorily and
must not carry it with you outside the Examination Hall. You are however, allowed to carry original question booklet and
duplicate copy of O Answer Sheet on conclusion of examination.

. Use only Blue/Black Ball point pen.

Use of any calculator or any electronic devices or log table etc., are prohibited.

. There shall be no negative marking.

. In case of any discrepancy in the English and Gujarati versions of questions, English version will be taken as final.
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1.

GEOGRAPHY

Paper - 11

Which one of the following is
mountain peak not located in the
Kumaon Himalaya ?

(A) Nanda Devi (B) Kamet
(C) Trisul (D} Makalu

. Consider the following statements

and select correct answer from the
codes given below.

Assertion (A) : Detour index is very
useful for planning in transport of a
region.

Reason (R) : Detour index is the
percentage ratio of actual road
distance and straight line distance
between centres.

Codes :

{A) Both (A) and (R) are correct and (R)
is the correct explanation of (A}

(B) Both (A} and (R) are correct and
(R) is not the correct explanation
of (A)

(C) (A} is true, but (R) is false
(D) (A) is false, but (R) is true

. Which one of the following is not

correctly matched ?

(A} Network society -~ Manual
Kestal

(B) Information society — David
Harvey

(C) Cultural capitals - Lyuck
Dickens

(D) Post-industrial - Liwingston

1. ollAetl UGl 53 udcalluir g1y

RiucaHi A Aol ?
(A) eietgcl (B) siAd
(c) llyat (D) Hisld

« o{l2Ao ([Quuet AHES sl ol Aall

sisHigll w2l ettt ue 53\,
Qanst A 322 A8 ¥ A Ytoiell
cllgotcauaslRell Lo et ol
Gualell 8.

59 R A dos 2Aotl ARclAs
wdR AN Ll Alélof iR 3g2
SodatHl B4 UBalell 25ttt wouid
a2l ealde 8.

51S:

(A) olal (A) el (R) WA B wal R A
A of AR Ul B

(B) ol (A) sl (R) AU B W {R)A
(A o] A urdlsa el

(€) AR Qs 8 ugl(R) WG
[Qtuet &

(D) (A)vE Quret B Wl (R) Wy B

. ollAotl Ul s2f Wy ArLlowet atell ?

(A) Jzas Daadl - Heyua
k2l
(B) 8520310 ~ 3clls e1d

Aa2él
(C) seRA 3dledt — clles B3
(D) Q2 destilad — [@Acloeat
Aadl

society
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4.

Which one of the following is not
correctly matched ?

A) Core Periphe — Friedmann

Al Model Phery

(B} Spatial — Smith
Interaction Model

(C) Imbalanced - Hirschman
Growth Theory

(D) Industrial — Losch
Location Theory

When cultural traits spread from
one society to another, the process
is called

(B) Parallelism
(D) Evolution

(A) Diffusion
(C) Phuralism

Which one of the following latitude is
known as the centre of the European
population ?

(A) 45° N

(B) S50° N

(C) 55° N

(D) 40° N

. Which of the following statement is

not correct ?

(A) Hartshorn propounded the
concept of areal differentiation

(B) The book ‘Nature of Geography’
was published in 1939

(C) Chorology word is used for areal
differentiation

(D) The use of Nomothetic approach
is in areal differentiation

. Which one of the schools of thought

first developed positivism ?

(A} German School of Geography
(B) Russian School of Geography
(C) French School of Geography
(D) British School of Geography

4.

ol Ul s2] Y AHLRNwet otell.

(A) 812 ARsIA WA _ ¥sAa

(B) 2utad Soenseel — ™
H3A

(C) 81AAS AU
@l
(D) gosdlact dldatet — clal

DEEN

gl dislds QR As wHerell
oflowil Jcal ® a ulsa sut iR
vavil & ?

A) Bsyxet (B) Wal@om

() ARSI (D) sAcyetot (Gesild)

o{lAotl Usl 52] wetieigd ‘YAUl2Uet

Axcllo] Jos’ HMlotalil 21 & ?

(A) 45° GolR waiiat

(B} 50° Gri? »iglial

(C) 55°Gtl? watial

(D) 40° GeiR aial

o{lAetl Qs Ul 53 Qo

Wy oell?

(A) ARAA Bgexllutatstell [eticotl
sl2alel al? UMl AUAEH

(B) ‘AUR ulg RNAE " ollHe] Y5
1939 uj usilRld scUHl 2R &q

(C) slnsH ~2oe WRua ($s-lRal
HE2 ctuRalHl WA &

(D) ‘cilAels (M ol GUDL
ARUE (gl oetul s2cHl
uicl B

— &9lilet

. Aeudslalefl Qazuiia Al yux

Yddl §30UR &cll
{A) oot A S wlal§l
(B} 2AN2et 1w vls wllailsl
(C) FU /e 2% 2rllsl
(D) @& 2 g 2=0A0E
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9.

10.

11.

12.

Paradigm shift concept was first
given by

(A) Thomas Kuhn

(B) P. Geddes

(C) Mark Jefferson

(D) W. Zelinsky

Which is the correct sequence of
chronological order of Greeks Scholar
during the ancient pertod ?

(A) Aristotle — Eratosthenes -
Anaximander — Ptolemy

(B) Eratosthenes — Anaximander -
Ptolemy — Aristotle

{C) Anaximander - Aristotle —
Eratosthenes — Ptolemy

(D) Ptolemy — Anaximander —
Aristotle — Eratosthenes

If N = 10 and ZD? = 99, the value of
rank coefficient of correlation will be

(A) 0.30
(C) 0.50

(B} 0.40
(D} 0.60

Match List - with List — Il and select
the correct answer using the codes
given below :

List -1 List —- II
(Tropical Cyclone) {Countries)
1. Baguio 1. Australia
2. Hurricanes ii. China
3. Typhoons tii. Philippines

4. Willy-Willies iv. U.B.A,
Codes :

1 2 3 4
(A} il iv i ii
(B} iii iv i1 i
(C) u iv i

9.

10.

11.

12.

A yauH WIEH Blse’ «f uRseuet
Bloll GlRL BlUaHl HAA ?

(A) AHA Sl&

@) 4. Asd

(C) b BIRUA
(D) S6e Rdorsl

yiflet umddi s Qeiellal

SLOLSHaL ULAL wlojsHY] 6L,
(A) ARwled - FRAWDAN-

AattallNos2 - QA

(B) 8212 a - VotgfiNesz- A -
AReled

(C) WotlgllNes - AR -
FrARAAYU - AAH

(D) 2Al- AcuelNes? - ARXed-
g5 AAU

%22 N = 104al ID? = 99 &2l AR
35 SlAGR2ee As SRAUA ol
(Buct dlat.

(A) 0.30 (B) 0.40

(C) 0.50 (D) 0.60
YR -1 wal YR ofl Heel Assi

N6l Wl AU wellol of Aol
slsHiell st

yR-I YR-1
(Guas[2uifdy alau§) (E3l)
1. ool i A
2. 8R¥et i, dlat
3. elgel iii. GlAwdu
4. (Al [Qclla iv, AU,
sls:

1 2 3 4
(A) i iv i ii
(B) iii iv ii i
(C) ii iii iv i

(D) i i it iv (D) i i iii iv
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13.

14.

Which of the following is most| 13. wdHlel Qe eaiaal HE {JouHisl
suitable to show the inequality in the 565 Yala alel ay Ao § ?
distribution ? A Q

(A) Circle diagram (A) qdm w3

(B) Isopleth (B) uSAAY

(C) Lorenz curve (C) AlRods Ais

(D) Bar diagram (D) et s

Match List—I with List — Il and select | 14. %issl <l Aol LA ol Ml

the correct answer. Q-1 Bl
List - I List - IT R R
(International (Major (budf A (v
Protocols) Theme) HUE [Quaiard)

a. Earth Summit/ 1. For the .
Rio Summit protection a. wud ude A 1. anﬂd ]
(1992) and Une (1992) HReel wa

maintenance Acum
of ozone
layer b. Wegaudt 2. slole
b. giorgtre?l 2. FO(; thte. maaet sllsU Sl
jgelialele] reauction H| Dl]_u ualsl
(Canada 1987)  of carbon (31511987) S
dioxide
c. Kyoto Protocol 3. Focus on ¢ gllel Yelslet 3 “[g'nim
(Japan 1997) climate (ULt 1997) Eh{* %

changes, 8 dlugle,
global del URERL,
warming, WSl 21 ua)
forest Qs QR
protection,
biodiversity
and Agenda d. [daytell Sootlel 4. LA g2l ot

. 2l (AARZ11985) U Al R

d. Vienna 4. Protection of 228100
Convention atmospheric &g
(Austria 1985) ozone layer a b c d

from CFCs
a b c d (A} 1 2 3 4

(A) 1 2 3 4 (B} 2 1 3 4

(B) 2 1 3 4

() 3 4 2 1 € 3 4 2 1

(D) 4 3 2 1 (D) 4 3

2 1
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15.

16.

Match List — I with List — Il and select | 15. osst Jlscl. Aol sisHiell A0
the correct answer using the codes ogcilol UL
given below. Q-L@.-I H@-‘II
List - I List - II o .
(vitie] otlm) (s1€lej aUH)
(Name of (Name of
Dams) Rivers) 1. [Qdau i. afletatdl
1. Tilaiya 1. Godavari 2. QdlazH ii. oA
2. Polavaram ii. Chambal 3. ALUYAY AR il s
3. Rana Prata iii. Barakar .
P 4. Hicidlen v. Qeal
Sagar
4. Mata Tila iv. Betwa 8ls:
Codes : 1 2 3 4
1 2 3 4 . . )
(A) 11 1 1 v
(A) iii i ii iv ' _
(B) i i v i (B) n 1t w 1
(C) iv i ii iii (C) iv i i i1
D) i i iii iv (D) i it iii iv
Arrange the following States in | 16. 2011 YHB8,c2lAd A=A axc{loll
descending order according to density 3[l2-ldla VUL GAdl SHHL asadi,
of population in 2011 and select .
Pop . . sisHiell A ot 2.
correct answer using codes given 13
below. S iad
1. Kerala 2. [@Asi?
2. Bihar 3.y doun
3. West Bengal 4. Guyulal
4. Uttar Pradesh
Codes : ls:
{A) 1,2,3,4 (A) 1,2,3,4
B) 2,3, 1,4 (B) 2,3,1,4
€ 2,3,4,1 (C) 2, 3, 4, 1
(D) 4,1,2,3 (D) 4,1,2,3

e
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17.

18.

19.

Consider the following statements
and select the correct answer from
the codes given below.

Assertion (A) : Indian ocean become
a military cantonment of many

powerful countries.

Reason (R) : Geo-political advantages
are there in surrounding countries
and Indian Ocean.

Codes :
(A) (A) is correct, but {R) is false
(B) {A) is false, but (R) is correct

(C) Both (A} and (R) are correct, but
(R) does not explains (A}

(D) Both {A) and (R) are correct and
(R) explains {A)

Who said that Federalism is the most
geographically expressive political
system ?

{A) Robinson
(B} Liwingston
(C} Newman

(D) Sheik

Which of the following is a Federal
State ?

(A) Columbia
(B) France
(C) Brazil
(D) Pakistan

17.

18.

19.

o{l Aot (Aol LAt AR

eagi&a slsHiell WA s
Yy 53

Qutet (A) : Becuts uasd £l w2 (B¢
HELAIOIR @953l g wledl B,

S1QL(R) : (B€ HELUIR el AU
gl MR o-Awsla el Bl B.

sls:

A) A)Quist WY B UBL(R)S1RQL
wig &

(B) (A)@Qutet 11E B UGL(R)s1RQL WY D

(C) [Quet (A) A 510 (R) oA AL
8 UQL 518 (R), Qe (A)
BofHlEsl iU o2l

(D) @tiot (A)uA SRYR)HUA WUl B
wa (R), {A) o] 5120 wud &

«dgdle, ollollAs adlal Alell ay et
A%¥SA caucRa 87U (Auet Sloll it
sdAUMH w1 B?

(A) AAoRlet

B) [@ldxe

(C) oMot

(D} 9vs

AN U4l 5¢f dellel 7 umanell

A%, B P
(A) slcildau

(B) siy
(C) ool
(D) wseclist
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20.

21.

22,

23.

Choose the correct answer from the
chronological order of the origin of
religion.

(A) Yahudi, Christian, Islam, Shikh
(B) Shikh, Christian, Yahudi, Islam
(C) Islam, Shikh, Yahudi, Christian
(D) Yahudi, Islam, Christian, Shikh

According to Alfred Wegener, the
continents drifted towards

(A) Equator and North Pole
(B) Equator and West
{C) Equator and South Pole
(D} Equator and East

Elastic Rebound Theory of H. F. Reid
1s assoctated with

{A) Volcano

{(B) Earthquake

(C) Origin of cyclone
(D) Mountain building

Which minor plate is situated
between Middle America and
Pacific Oceanic Plate ?

{A) Scotia
{B) Caribbean
(C) Nasca
(D) Cocos

20. wo{l Geaidal dedl stasm yd
RN CARENUNN

(A) 2g€l, Maddl , sweun, ollw
B) 2w, Ml , ugél, sreun
(C) sreun, ollw, agel, [l
(D) g€, sreun, Ml , oflw

21.
ARS U B ?

(A) [Qyage ua Gy
(B) ([Qycigrt ual uEH (2au
(C) [Ayaga wa elAaya
(D) (Ayagrt mua yddl2au

AN, sell seldls RaiGes
@3l Aol w0 dsouAet B ?
(A) waouyul

(B} udlsw

(€) ctauRsiell Geuld

(D) uddlaxial

22.

Heat AUARSL sl wa URES
HalElet dalsaell a2 58 ool
dlset Qe & 2

(A) W

(B) 3Raa
(C) olisl

(D) sl5lo

23.

UGS AdletRell Hel UoUR Guist 56
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24.

25.

26.

27.

Displacement of both the plates in
opposite directions due to fracture
is known as

(A) Normal fault
(B} Reverse fault
(C} Step fault

(D) Strike slip fault

Urban areas tend to be warmer than
surrounding rural areas, what is the
effect known as ?

(A) Urban boundary layer effect
(B) Urban heat island effect

(C) The Venturi effect

(D) Urban Canopy layer effect

In which of the following aenal,
photographs, the Nadir and the
Principle Points coincide ?

{A) Vertical

(B) Near vertical
{C) Low oblique
(D) High oblique

By ‘Spatial Data’ we mean data that
has

(A) Complex values
{B) Positional values
(C) Graphic values

(D) Decimal values

24.

25.

26.

27.

A gciBeell Asollostsll Q36 Rawsd
Ul 2 [ARs U3 B A sdala B,

(A} dlHLRL HtReot

(B) [Quild treilol
(C) wotell U8t Rel
(D) 1R BZas il el

91331 [Qacltz Aell AURWUew 2L
(QctlRell YHIRIHL ARH A2t B, AR

56 WU sda B ?
(A) wolal ollGedl AR Y52

(B) uolet Bz wi2Qes SF52
(C) u Qe k52
(D) wolet Boill Q2R S5

o2 U sul ystzetl ARaA
AaoUsHi AR 2 Wl Qelluct
Wgee Rgzu i B ?

@A) lligd
B) lldgdoll «1s
(C) A as
(D} AY ds

2ellot(Auas Satall wdd a8,
(A) (Quu Bua

(B) eetuitdlR3d B

(C) WAWUHS BHa

(D) uyals Bua
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28.

29.

30.

31.

Which among the following is not
related to GIS software ?

(A) CAD

(B) Arc GIS
(C) Arc View
(D) STAAD Pro

If the arithmetic mean of the two
numbers X, and X, is 5, if X, = 3,
then the value of X, is

(A) 3
(B) 5
) 7
(D) 10

Energy flow in an ecosystem is
(A) Bidirectional

(B} Unidirectional

(C} Multidirectional

(D) Tridirectional

Exfoliation is created due to which
one of the following chemical
weathering ?

(A} Oxidation
(B) Hydration
(C) Carbonation

(D} Solution

28. o{lA Ul 59 WUTAY ANg2AR
AU YsnAA el ?

(A) &s

(B) ub pwuduA
(C) b

(D) ®s Wl

29. o vl X el X, ofl W42

URAAR 582 wa X, = 3 8l
Al X, ofl vAl 9f Al ASA ?

(A) 3
B) 5
(C) 7
(D) 10

ulRReulds carcansi Gole] dss
s dlad wa & 7

(A) [Guella
B) [audlet

30.

(C) oglzan
(D) (Afeal

5U1 YslRell AMAGLS wWatalel]
5120 US Walll U wlal HO

82

(A} A3t

(B) walgllogel (slaLelot)
(C) stollaiglet

(D) Hcjalet

31.
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32,

33.

34.

35.

Sequence of the percentage of salinity
in oceanic water in descending order
are as follows

(A) Magnesium chloride, sodium
chloride, magnesium sulphate,
calcium sulphate

Magnesium sulphate,
magnesium chloride, calcium
sulphate, sodium chloride

(C) Sodium chloride, magnesium

chloride, magnesium sulphate,
calcium sulphate

(D) Sodium chloride, magnesium

sulphate, magnesium chloride,
calcium sulphate

Where is the Kermadec Trench
sitnated ?

(A) North eastern Atlantic Ocean
(B) South western Pacific Ocean
(C) South eastern Indian Ocean

(D) North eastern Pacific Ocean

Who propounded the Dynamic
Theory of origin of oceanic tides ?

(A} Harris

(B) Airy

(C) Whewell

(D) Laplace

In an ideal ecological pyramid the
place of man is found at

(A) Top (B} Bottom

(C) Middle (D) Uncertain

32.

33.

34.

35.

eRaug welloll aldleil
yHBLe(l gudiad Gerdl sHH
Asddi s K WA Y ?

(A) DA sARES, Al

SARLSS, ARl ucke,
(e aH ucke

NooRlaH ucde, Ro[dan
5SS, HEAAH ucke, d3an

sARLESS

AlaH sARSSs  AdxARlan
sARISS , RoaAlan ucke,
y(eRan ucke

ABan sARESs, RaRlan ucke,
NoaBlaxt scllaLess, ledaum ucke

(B)

(C)

(D)

HUYS WHLUS gl HELAUIRH
wladl & ?

(A) Grr-yd dedlles LU
B) e@e —uEn ARGs HatwoR
€) elda-yd Be ualuoR

D) Guz-yd RS HetAoR

wHyls ol Ggaoll ‘slaas
@il & yrda s oddl ?

A) 3

(B) Aad

(C) dac

(D} cluAM

2Ll uilRRalds QrudlsHi Hegwief
Wiot U B ?
A) Well GuR
(C) Heall

(B) Al oA
D) ¥R
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36.

37.

38.

39.

The water pollution in river is measured
by the dissolved amount of

{A) Chlorine
(B) Ozone

(C) Nitrogen
(D) Oxygen

Which of the following UN Commission
is responsible for reviewing progress in
the implementation of Agenda 21 and
the Rio Declaration on Environment
and Development ?

{A) United Nations Disarmament
Commission

(B) United Nations Statistical
Commission

(C} United Nations Commission on
Sustainable Development

(D} United Nations Commission on
Human Rights

Biological treatment of water pollution
is done with the help of

(A) Lichens

(B) Fungi

(C) Phytoplankton
(D} Sand

‘Kalbaisakhi’is a kind of thunderstorm

witnessed in the States of

(A) Nagaland, Tripura and Sikkim

{B) Mizoram, Assam and Manipur

{C) Assam, Tripura and West
Bengal

(D) West Bengal, Manipur and
Mizoram

36.

37.

38.

39.

A Aott UKL 58l declotl ol
YHIGLA AR ot€lotl UiRlle] ugNBL
HIUCtHE w1 & ?

(a) AR

B} ¥Alat
C) oueS2loet

D} 2l sloget

WA%osl 21 el Rallall walail ua
[Astaell aluguet wHclsRHl ad

wlldell Rdiz Andciell waoleldl
Q. ulel. o sy sMaletell B ?
(A) Yelleses A BulHIAR

s atet

(B) Youtthies Ao WR¥sct
s(a1at

(C) YoUsses Aot sMalet
ol HrAUH SaAlUNE

(D) YoUses Aot 5M3Let2at
§Hol 282U

(
(
(

wiellott ygeell wlds GuaR

HI12 ol HEE QailHl WA & ?
(A} casa

(B) &l
(C} slAN Aot

D) 2l

‘AU ool dlgtell sl
SUL sy AewdlH] Hlell HA B ?

(A) dUAS , By wal RlsEH

(B) (oM, wuM el HBlYR
() AWM, By wal uBu sloun

(D) uEH oloum, MBYR ua AANM



Tz

40.

41.

42.

43.

44,

Cyclones in the Caribbean islands
are known as

(A) Typhoon

{(B) Hurricanes

(C) Tornadoes

(D) Storm

On the basis of Koppen’s climatic

classification which one of the
following association is correct ?

(A} Ft — North China

(B) CF - Western Europe

(C) BSh - North and South Sahara
Desert

(D) Aw — Iran

Which of the following organisation
is not directly related to up keeping
of environment ?

(A) WMF
(B) IVCN
(C}) UNEP
(D) WWF

The Garo, Khasi, Jantia are major
mongoloid tribes of

(B} Assam
(D) Odisha

(A) Manipur
{C) Meghalaya

Mobility Transition Theory was
given by

(A) W. Zelensky

(B) E.G. Ravenstein

{C) P.E. Ogden

(D} J.Q. Stewart

40. 3R(Clast 2yl va@dldl

41.

42.

43.

a4,

csgtcu:ﬂsu?l sell ol 2y
?

(A) 2lagel

B) &R¥el

(C) alolsl
(D) Wi
S0t 612 Yrdd Bledscllall

ao(ls2ele ww 2 18
sy Al WY B ?

A) Ft - otdl 2l

(B) CF - ufEH yAu

(C) BSh - GtiR ual ef@Q
U1l WYL

(D) Aw - g2t

yallazq 2an wd A A
AsAE o slA Al Areal
58 & ?

(A) SHGY A U

B) ¢ dl {l st

(C) Y Aot & UL

(D) Se&Y SHIER] A

AR, wil, Blod saliell Yuat

HPNAS'S oetosild & ?

(A) HRYR (B) W

(C) Reic (D) 2B
YRadalBlddl AisHelel Rtuid
510 vl & 7

(A) SUCY sl

(B) 8.%. Adc2tel

(c) JL.&. 2028at

(D) %.53. wAS
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45. As per Census of India 2011, the
sex-ratio of Gujarat is reported

(A) 908

{B) 918

(C) 925

(D) 946

46. Surface circulation of oceanic water

is due to

(A) Resisting force

(B) Tidal force

(C) Gravitational force

(D) Blowing wind

45. 2039 olt Ao 2§ Sedlaliatl

46.

AWE yosor oA
ARyl dag & ?
(A) 908

(B) 918

(C) 925

(D) 946

U5 well dudle] uRaHe
ot R wa B ?

(A) uldsizs o

(B) ¢l cua

(C) 9Jeclsrlal wo

(D) udet gstaal R

47. From the following pair which is not | 47. o{lQsuniell 53 wlsy Uy &l

correctly matched ?

(A) Mahar - Sea power () Mgz - s Ab
(B) Kohen —  Crush zone (B) 8leat - 52 Aol
(C) Mackinder -  Pivot area (C) AslotR - Uil AR
(D) Spykman - Rimland (D) A5t — Anillos
48. Which one of the following is the 48. Wd HHHS WA Wl [@Astuell

ULRAUL ddsstulloll sH wRUCl.
(A) Wella - Salle{la-ngdelu-

correct sequence of stages of urban
development as postulated by

L. Mumford ?
(A) Polis - Eopolis — Metropolis — Rau el
Megalopolis (B} Al - Wellu - Sa0clu-
(B) Metropolis — Polis — Eopolis — Doyl llelu
Megalopolis
(C) Eopolis — Polis — Metropolis - (€ Bulldlelat el -RACl-
oAl

Megalopolis
(D) Rouc el - Agaclla-

(D) Megalopolis — Metropolis —
gulllellu -Qedln

Eopolis -~ Polis




49. Examine the following statements | 49, o{lQett ([Qtiellal duwRlla slsuiel

and select the correct answer using AU el Ll
the codes given below.

1. Overturned fold is the result 1. @‘[ao& HHLAR s rﬂq

when the compressive force are gougeidlell el B
strong. . 2. [@ARes iR Adct g
2. An intensive horizontal movement ol
due to compressive force results 8"{&[(’.{01 AW Ll
into the formation of Nappe. Alais wa B,
3. Each of the folded mountains 3. Adlswell Hac €35 Ul
contain several Nappe. UAS ANl B
Codes : as-

(A) 1 and 2 are correct
(A} 1 ol 21 B

(B) 2 and 3 are correct (B) 2 ual 3 AW B

(C) 1 and 3 are correct (C) 1 A 3xaw d
(D) 1, 2 and 3 are correct (D) 1,2 val 3 L 8
50. Examine the following statements | 5Q. o{lAstl Qtitalial ctullal 2t
and select the correct answer using slsHiell R0 yeue wRual.
the codes given below. 1. wigulelaa (Qex, ReilallNes?,
1. The lonian (Thales, Anaximander, dsesu) \ip_;;ﬂa oSl uudldl
Hecataeus) considered the earth ateuell
as a circular plane. ' .
2. The lonian divided the carth 2. wgleflast Yeell A Q st
into two continents (Europe and ag2ll (?:;@.U. ua dloflul)
Libya). Foved 3. QAeu wlot WA welled
3. Herodotqs believed in a AYHLGL 22Ut SLQU <l
symmetrical arrangement of
land water. 4. @A yeclloll uRMEQ
4. Eratosthenes measured the ol Hil
circumference of the Earth.
sls:
Codes :
(A) 1, 2 and 3 are correct (A) 1,2 ol 3 B
(B) 1, 3 and 4 are correct (B) 1,3 ual 4 yud
(C) 1, 2 and 4 are correct (C) 1,2 Aal 4 WU d
(D) 1, 2, 3 and 4 are correct (D) 1,2, 3 wal 4 WUl A O




b

S51.

52.

53.

Consider the following statement and
select the correct answer from the
codes given below.

Assertion (A) : Ritter propounded the
theory unity in diversity.

Reason (R) : Ritter was a teleologist.

Codes :

{A) Both {A) and (R) are correct and
(R) is the correct explanation of (A)

(B} Both (A) and (R} are correct, but
(R) is not the correct explanation
of (A)

(C) (A) 1s true, but (R) is false

(D) (A) is false, but (R} is true

Which one of the following is the
philosophical basis of Quantitative
Revolution ?

{(A) Probabilism
(B) Idealism

(C) Positivism
(D} Extentialism

Which one of the following statistical
techniques involves a large number
of variable to be summarised into
smaller dimension ?

(A) Chi-square
(B) Correlation analysis
{C) Regression

(D) Factor analysis

51.

52.

53.

o(lAell (Qtuellal aitoti Avlal 220
gcilol wRILCl.

[Quilet (A) : ‘dfQtadcdtHl Ascll’ ol

Raledt fle 2l
51RQL(R) : 2R dqaleal GlotollR

lRaA®we ) sdl
.‘RS:

(A) Auel Rod Ul B, RA [Aeuat A
o wolld 53 &

(B) Aual RUA WA 8. U R A
[Qutet A A WAl 524 otell

(€) @Qutot A Y & ud sRQL R
wWe B

(D) (Qulet A vilg B Wat 5120 R
U B

ofl Aotiiiell 520 cte HAUMHS sifd 12
elollels vt B,

(A) delceil clE

(B) wuedlale

(C) &5AHS clE

(D) Wl allg

Al AoHiell 58 wissia ugld weu
el UAA ollolt URHIBIHL ctu? 8.

(A) S8 WAR
(B) dolflct [Qedmugl
(C) YeudtHlet (3l)glet)

(D) ¥s52204] (Q2Anul

I



s

54. Match List — I with List —II and select | 54. UA GUOL [ el GULOL IT o S| el

the correct answer from the codes o{lA A slsHill AA sl sl
given below. LT GUOL-TI
=k _ L?s: =k 1. usie ¥ i W%
; i:;iizf li i:rmux 2. Al i WA &
3. Growth Pole  iii. Jefferson 3. q-@“dl Sl iii. B
4. Rank Size Rule iv. Gottman 4. WS AUSH A iv. ol
Codes : sls ¢
1 2 3 4 1 2 3 4
(A) iii i v (A) iii i v i
(B) iv i iii i (B) iv ii iii i
(C) iii iv ii i (©) iii iv ii i
(D) i ii iii iv D) i ii il iv

55. Match List— I with List—Il and select | 55. Y@-1xal YR-IIa ASlal WA

tl:xe co;rtlect answer using the codes Slsuiell |l eweiel wRudl.
given below.
$ R-11
List - I List - II . [%@ - Qiq Q
dd
(Phenomena (Wind) e R
Associated) a. 6% WlellR 1. R3ssl
a. Snow eater 1. Siracco b. se? Ucel 2. ocllonié
b. Doctor wind 2. Blizzard a
c. Blood rain 3. Chinook B KCRIE SN 3. a8
d. Stormy cold 4. Harmattan d. eRis &Sl Wl 4. WNeq
and powdery sl udell
wind
Codes : s :
a b d
a b c d
@) 3 4 % ) (A) 3 4 2 1
(B) 3 4 1 2 (B) 3 4 1 2
(C) 2 1 4 3 (c) 2 1 -+ 3
4 3 1 2 4 1

(D) 2 (D) 3



bt

56.

57.

What is cloudburst ?

(A) It refers to sudden and copious
amount of rainfall over a small
area which is often lasts for only
a few minutes

(B) It refers to 50 mm rain over a
period of time

(C} Itis caused by rapid condensation
of very heavy clouds

(D) It refers to a Thunderstorm with
little rain

Consider the following statement and
select the correct answer from the

codes given below.

Assertion (A) : Equatorial maritime

air masses are hot and very humid.

Reason (R) : Equatorial maritime air

masses are found between 5° N to 5° 8.
Codes :
(A} (A) is correct, but (R) is false

{B) {A) is false, but (R) is correct

(C) Both (A) and (R} are correct, but
(R) does not explain (A)

(D) Both (A) and (R) are correct, but
(R) explains (A)

56. cUEq sl2q Aed

57.

(A) ottotsst QM ARA U Yy
Hioat ol 2lsl Hlelle el
RAULE

(B) s Mt e alet Ul
50 mm oll dRULE

(C) Vol % axetallal AEns] Byl
dolls20l yeuell uiz &

(D) ux(Ae Aslell wd Sl dALE

ol Astt (Atttol A yHYA A
galletHigll A wetor L.

(Atitet (A) :[@Qyagdla eRaue
ARUHRAA I WA Vol %
Aalnl sl 8.

5120 (R) - [Qyagdla eRaue
arguyAA 5 Sfl Gz wa 5 ol
ef@a watisell 42 waa B,

5l -

(A) [Quiet A WY B ud s R
ulg 8

Quist A Wz B u2d s126L R
Uy B

[Qullet A 2L 5120 R Gl WAl B
URd 51RQL R [Qtuet A A A
5 olell

[Qtuct A v 520 R AR WAL D

Al 5128 R [Aulel A A WA
52 8

(B)

(€)

(D)



ket

58.

59.

Examine the following statements

and select the correct answer using
the codes given below.

1. The equatorial air pressure belt
is thermally induced.

2. The sub-tropical high pressure
belt is also known as horse
latitude.

3. The sub-polar low pressure belt
is the result of rotation of the
earth.

Codes :

(A) 1 and 2 are correct
(B) 1 and 3 are correct
(C) 2 and 3 are correct

(D) 1, 2 and 3 are correct

Examine the following statements
and select the correct answer using
the codes given below.

1. Insolation intensity decreases
going away from the tropic of
cancer and tropic of Capricorn.

2. Temperatures decreases with
increasing altitude.

3. Extreme temperature is recorded
away from oceans.

4. The highest temperatures
are recorded along the line of
equator.

Codes :
(A) 1, 2 and 3 are correct

(B) 1, 3 and 4 are correct
(C) 2, 3 and 4 are correct

(D) 1, 2 and 4 are correct

58. oflActt [Qulell AU ol 20

Slsuiell ARl wenol WU,

1. Qyagdla eogen? ur yuad
Guudlal uRomett A 8,

2. uldeige{la ozeuruz A dlstell
aligl (horse latitude) 33 ual
a8,

3. yagdla ayeirue yedlsil
wRBeHe R wa 8.

515 :
(A) 1ual 20 B

(B) 1ol 3 AL B
(C) 2 ol 3WAD
(D) 1,2%a 3 WU B

59. ool Al AW U oA e

5ls YHIAL ULRA sellol Rl

1. o wal HsgTiell £ ¥l
yalatcoll flgeunl uast wa B,

2. G atctoll W dAlUHLe U2 B

3. wUilds dusie eRausll g
Hul 8.

4. Qyagrel 2w Gur Aldl aurR

AluMlel HUL 8.
5l :

(A) 1,2 ol 3UY B
(B) 1,3 3l 4 WY D
(C) 2,3 vl 4UY B
(D) 1,2 wal 4 WY B




60. Match List —1 with List -1l and select | 0. Qi[a_l Ul %@—Ha g9l ol VU

tI?e correct answer from the codes ascuelmizll 22l ol ol Al
given below.

List - I List - II YR-1 yR-1
(Concept) (Propounder) (vaule) (YrelleLs)
a. Ecosystem 1. Charles a. o5llen 1. W ARl
Elton
b. 2. %. flac
b. Ecology 2. J. Grinel vslcly
c. Ecological 3. Ernest c. B8lAlsH 3. sl dlsa
Niche Heackle Als(ABe)
d. Ecological 4. A.G. Tansley 4. BAAsA 4. 9o, 2l
Pyramid ' aud )
Codes : 2 RAHLS
a b c d 85
(a) 3 4 12 2 b c d
(A) 3 4 1 2
B) 4 3 2 1 B) 4 3 5 A
€ 1 2 4 3 © 1 5 4 3
(D) 4 2 1 3 (D) 4 2 1 3

61. Match List—I with List~II and select | 61. @I wal YR A Adla oA 2t

the correct answer using the codes apetollHiell A0 weliol ¥Rl
given below.

List - I List - II 4 R
a. Traffic flow 1. Choropleth a. 235 youe i sRhaa
b. Population ii. Isopleth b. cRelloll ollauct i, wgA QY

Density c. oot quatel . st2loiH
c. Landuse i1, Cartogram d. dlUHlel iv. W stdaum
d. Temperature iv. Pie diagram 3 -
Codes :

a b c d
a b c d

@A) i ii o v (A) 1 ii Wi
(B) i iii i iv (B} i iii i iv
(C) iii i iv ii (C) iii i iv i

(D) ii iv i iii (D) it v i iii



i

62.

63.

64.

65.

Which one of the following sequence
of sampling techniques come under
probability sampling ?

(A) Systematic, Quota, Purposive,
Stratified

(B) Random, Stratified, Systematic,
Cluster

(C) Random, Quota, Cluster,
Stratified

(D} Stratified, Purposive, Random,
Quota

Which of the following is not
considered as an indicator of social
well being ?

(A) Female literacy

(B) Domestic assets

{C) Crime

(D) Infant mortality rate

Which one of the following is the
largest entity in areal extent ?

(A) Cultural region

(B) Cultural landscape

(C) Cultural realm

(D) Cultural point

What is Avalanche ?

(A) Mass of glacier debris transported
to the sea

(B) Mass of rocks and mudflow and
the force of gravity

(C) A mass of snow and rocks moving
down-slope under gravity

(D) A depositional plain in an arid
climate

62.

63.

64.

65.

detelstt et [Aeel ualdni stjsul

Aol ctsoltsl 12 oAt U4l 520 51
URA B ?

(A) Aol g, Fad Bruodll, udds,
s cUE(RDs

ALe2Ds, gD s, Aleyell
GG, HUL

L@ s, [Aad Rxuell, opmwy,
A gtA D3

gl eDs, Adds, AR,
(2t Bauedl

ol Astimiell 53 Yus AR s Yuusidle
yus otell ?

(A) ¥lloll MERAL €

(B) tlRu2g AHlsl

(C) ootlll

(D} GO HRYER

Al ActHiell Qactizell af@A WAl 2060
QiR Sloll B ?

(A) diwslds yta

(B) uiwslds Aosadu

(C) dirglds Ax

(D) dislds g

(B)
(C)

(D)

Rryuwe Aed g
(A) RHetlalloll sl2HIAoll AMgs]

Uys dRge] WRdsel

dzcausdil st cl8l uwss

al slaloll Yaidell U4S
opecltsdll el iR RS U
WS Slott AYR of oA wAl %,
Y5 volleatelon [QRettrMl oot
(A ugtel AEisll




ket

66.

67.

68.

The slope replacement model was
propounded by

(A) William Morris Davis

(B) James Hutton

{C) W. Penck

(D) Strahler

Match List - with List — I and select

the correct answer using the codes
given below the lists.

List - I List - II
{Types of (Examples)
Volcano)
a. Active volcano 1. Hawaiiantypes
(Pacific)
b. Dormant 2. Cotopaxi
volcano (Ecuador)
c. Extinct volcano 3. Mt. Popa
(Myanmar)
d. Pele’s Hair 4. Visuvious
(Italy)
Codes : .
a b c d
(A) 3 1 4 2
B) 2 4 1 3
C) 2 4 3 1
(D) 3 2 4 1

Consider the following statements
and select the correct answer from
the codes given below.

Assertion {A) : Cold waves are found
in North India in winter season.

Reason {R) : Heavy snowfall occurs
in Himalayan region in winter due to
westerlies depression.

Codes :

(A) Both (A) and (R) are correct and
(R) is the correct explanation
of (A)

(B) Both (A) and (R) are correct, but
(R) is not the correct explanation
of (A)

{C) (A} is true, but (R) is false

66.

67.

68.

Aol yRauet (Relu AuRR)

W3 S1QL A ?

a) lellan 3l 3l

(B) Bt &2l

(C) SUeR] ok

(D) WEAUR

YR uA YR-IA A8 A oA

wQet Slsuiell WA ool dull.

A1 yR-1

(v ougullatt ystz) Gelerwy

a. uBa vauaupll 1. s UsRell
(uaticl
HBLAULOLR)

b. Yyt sepouyull 2. sl2luell

: (85ASR)

c. alict satouyull 3. Gz Ww
(32LelHIR)

d. UA 3852 4. QylQau

85 (saldl)

a b ¢ d

(A) 3 1 4 2

(B) 2 4 1 3

(C) 2 4 3 1

(D) 3 2 4 1

ofl Aotl Aol usi{lal AU sl

ectell.
Qe (A) : GR el Riouell

Bl 63ld Hly wd B.
5120 (R) - WAl sctst ecugial el
Riuctaletl yEani Ranel o e

clRULE U2 B,

515.
(A) @Quiletl A A SIRQ R A AR B

ual Attt A H2o] SIRQL R WY B
[Quiel A Aal SIRELR B oA Ul

B udd (At A Hi2e] 8ILR
Ay ol

(C) (Atuel A WY B UG SIRQYU R
UY atell

(D) [Qtuol A Vg & U sIRQLR

(B)

(D) (A) is false, but (R) is true qY B



s

69. Match List —I with List — Il and select

70.

the correct answer from the codes
given below.
List -1 List - II

a. Syzygy 1. The position
of the earth
in between
the sun and
the moon

b. Conjunction 2. The position
of sun, the
earth and
the moon in
right angle

c. Opposition 3. The sun and
the moon
one side of
the earth

d. Quadrature 4. The position
of the sun,
the moon and
the earth a
straight line

Codes :

a b c d
(A) 3 - 2 1
(B) 4 3 1 2
(C) 4 3 2 1
(D) 2 1 3 4

Khetri, Kolar, Sindri and Jharia are

serially associated with

(A) Copper, Gold, Fertilizer and
Coal

(B) Copper, Gold, Coal and
Fertilizer

(C) Copper, Coal, Gold and
Fertilizer

(D) Gold, Coal, Iron and Copper

69. YR uA YR-IA AR (A et

acllototl slsHiell WA Sls w.udl.

Y1 yR-1
a. y@ 1. YA ual As aA
yeclol @@
b. aAsel 2. Y2 ,yecll wal 2Asell
stevRl awll RA

c. Qzs 3. YA ua s A yeclloll
s % A 8l

d. udafe 4. Yo, As ua yeclloll
RAQ As o el
AL 8l

51S 2

a b d

(A) 3 4 1

(B) 4 3 1 2

C) 4 3 2 1

(D) 2 1 3 4

70. WA, sletr, Alee 3 el Bdlau sl

UofsH Aoitlld B ?
(A) dief, Aoj, WLdR Ual Sl

(B) dlief, lof ,SlA™M Wal BLcAR

(C) iy, SlAA, Aef U WlcdR

(D) ¥lef, SlAA, s A cliof




71.

72.

73.

74.

75.

Which area of India is highly prone
to earthquake ?

(A} Aravalli Range

(B} Coastal Area

(C} Indo-Gangetic Plain
(D) Himalayan Range

The longest network of roads in India
is in the State of

{A) Maharashtra
(B) Tamil Nadu

(C) Uttar Pradesh
(D) Madhya Pradesh

Which one of the following soils
occupy the largest percentage of soil
of India ?

(A) Alluvial soil
(B) Black soil
{C) Red soil

(D) Laterite soil

Which one of the following is not
component of planning in India ?

(A) The National Development
Council

(B) The Panchayat Level Planning
Committee

{C) The State Level Planning Board

(D) The Planning Commission of
India

One of the regions that receives
rainfall from North Easterly
Monsoon is

(A) Assam
(B) Tamil Nadu
{C) West Bengal
(D) Kerala

7T1.

72.

73.

74.

75.

ol AeuHiiell elRcloll 520 @Atz epfusll
ddestdllad 8.

(a) wacedlell slauou

(B) dygell (AR

(€) Rly-sioust Relsll

(D) Brictaell slrHw

AURctoll sl AU ¥ Azl
el etiof B ?

(A) HERLY

(B) diletsug

(C) Grryta

(D) HraAygsal

eltctoll Wlell atau® estaldl [Qretirml
ol Aetimiel sau ysiell 1l & ?

() siuol axllet

B) stofl wllat

(€) et Hlot

(D) A:ue ¥l

oflAoti Hi2ll 53 Ues euRdall

URN% A Ues olell

(A) U A2oidt Iacluee sG{lct
(B} 4 uulad Aacell sualeset s:lél
(C) AxAAA2A wAlowot oS

D) & wetteflor sHlatet 25 saslau

ol Aottriiell seit A@UHL GrR-ycllz
A Mol ARUIE A B ?

(A) URLH

@) ey

(C} dze douet

(D} %2Acl



76. As per census 2011, which of the
following two districts of India have
maximum sex ratio ?

(A) Hyderabad and Bengaluru
(B) Malda and Bhagalpur

(C) Mahe and Almora

(D) Daman and Leh

77. India’s decadal population growth
rate has been continuously declining
since
(A) 1971-1981

(C) 1991-2001

(B) 1981-1991
(D) 2001-2011

78. The zone in the oceans where
water density increases rapidly
with depth in response to changes
in temperature and salinity is
known as

(A) Pycnocline
(C) Thermocline

(B) Halocline
(D) Syncline
79. Match List — I with List — Il and select

the correct answer using the codes
given below :

List -1 List - II
(Relief Features) (Ocean)
a. Telegraph 1. North Pacific
Plateau Ocean
b. Albatross 2. North Atlantic
Plateau Ocean
c. Amsterdam 3. South Pacific
St. Paul Ridge Ocean

d. Kurile Trench 4. Indian Ocean

76. 2091 oll oA YHIBO o{lAetiHiell seu
A WEARUHL Acllo] YMHIBL CRdHI
Adlaur 8 ?

(A) BERAGUE ol AIUAR

(B) HICEL ol GUAAYR

(C) HIE Ual WAHIRL

(D) EHQL Bl AS

Rl exala arcll geell el
salRel Yalsl U @l B ?

(A) 1971-1981  (B) 1981-1991
(C) 1991-2001 (D) 2001-2011

77.

78. Wsoll Gstefell WA AlUMLot U
VRIAHL Ul dstalctoll ud welle(l

ot 35Ul el sl RletHl
Al 8 ?

(A) Usallscuset  (B) dclsctseot

€) allscset (D) AloscASat
79. YR-1ua YR-TA AR Aot

Griuiell A Gir skl

YR-1 YR -11
(eyrsall ({4 )
Ala@s )

HELRAUR
b. weddy 2. Gk Aeclles
HELUPR
Guuytal

c. yRedHell Aee 3. E@@,l yalid
HelMLIR
Wl R L

Codes :
a b ¢ d d. $ATA wIE 4. (3ot HElUOR
8ls :
A2 3 4 1 b e d
B)2 3 1 4 A)2 3 4 1
B)2 3 1 4
1 2 3 4 01 2 3 4
3 2 1 3 9 1

(D) 4 (D) 4
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80.

81.

82.

83.

84.

International Tsunami Information
Centre is located at

{A) Honolulu
(B) Goa

(C) Jakarta

(D) Puducherry

Which one of the following is
correct to find out natural increase
of population ?

(A) Crude Birth - Crude Death
Rate Rate
(B) Fertility Rate - Out Migration
Rate
(C) Fertility Rate - Death Rate
(D) Fertility Rate — Fecundity
Rate

Demographic transition model was
propounded by

(A) Trewartha

{(B) Thompson and Noterstein
(C) Malthus

(D) Bogue

Optimum population theory was
propounded by

(A) Edward West
(B) Henry George
(C) Edwin Canon
(D) Sir Walter Raleigh

K = 7 deals the relationships of
(A} Market centres

(B) Administrative centres

{C) Transport network

(D) Hexagonal shape

80.

81.

82.

83.

84,

WidRAPA Yol Boglilotot o2 sall
udG 8 ?

(A) 8y

(B) olicit

(C) st

(D) Wsludl

dxcllell el awA BVed g ?

(A) HAYA FoHER — HOEGcd HRIER

(B) yosolol £2 — (4812 %cll WGzl
)
(C) Yoolol €2 — HRYER

(D) Yoolal £ — SOGUCLall €2

circlldvas sl M3t SlQ Wiy ?
(a) Slaed

(B} :udel Wal oll2ral

(C) ey

(D) ollaL

AEIHH arcloll Rglodt SIQ 220
(A) Asad A

(B) &ol3l

(C) Asclot Jollot

(D) ¥R dleeR AA

K=7 3l o{lActiniell slell
dol®a ® 7

(A} “oRell Sosl

(B) cdladl 3eal

(C) AEoteRruclElRe] a2t

(D) Hestellal s
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85.

86.

87.

88.

89.

“Push and Pull Theory” is related to
(A) Migration

(B) Economic Development

(C) Social Changes

(D) Demographic Transition

Cold Wall is associated with
(A) Brazil current

(B) Canary current

(C) Mozambique current
(D) Gulf stream

G. Myrdal presented his theory on

the principle of

(A) Polarisation effects of economic
growth

(B) Circular and cumulative causation

(C) Trickle down effects of economic
growth
(D) Multiplier effects

The assumption not made by Weber
in least cost theory is

(A) Market exist at specific place

(B) Raw material occur at few
locations

(C) Labour is immobile and their
supply is unlimited

(D) Labour is mobile but their supply
is limited

Which one of the following is not

correct ?

(A) Bhatia - Crop diversity fiction
(B) Weaver - Crop productivity
(C) Kendall - Ranking co-efficient

method

(D) Raffiullah - Maximum potential
direction method

85.

86.

87.

88.

89.

“Yal WA Yol Rgloct .......... (D)
Hoildt B.

(A) ¥UOUAR

B) s @Qstu

(C) AHUBs cecial

(D) clxcll [Avas AsHa

ol Aetmiell ‘631 Eleuct’ aoe Sloll

AU Aol & ?

(A) Wl yaus

B) ¥ot3l yaie

(C) Axuolls yae

(D) atesell wisl

%. Hlsleall Rgic o(lAcuniel

S RQgiod UR WURA D ?

() s glgell yellsW ol xR

(B) uRaHelal ual AR S0l

(C) s gl&eell glsc sIGet uUR

(D) uell ottll 2als WUR

Aotetl ANHL 29 SlH ol

Relort Hi ol Aotuiell 585 ueu el

(A) ol%1R S8 AlssU RUN BRA<
SEI

(B) st Hiet Asdl auR ol
HA &

(C) HyR A URAR AUl B Ual Aoll
yrasl wMAEld B

(D) my2 aldslldt Aot 8 Ul dAxetl
yrasl HadllEd 8

(At 52 Blsial A ol A

QUL

(A) edlal — uislell dlQeaictiell seustl

(B) cdlazr- wsell Geulescl

(C) ¥o5ct — 2wSlaL slAG e ol
ugld

(D) 28lectis — HetH Aeldd (Eauell

ugld
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90.

91.

92.

93.

The crux of Von Thunen’s theory
related to

(A) Environmental zoning
(B) Umland development
(C) Sectoral arrangement
(D) Land rent curve

Optimal planning for resource
development is called

(A) Resource Utilization

(B} Resource Allocation

(C) Resource Management

(D) Resource Availability

Match List - [ with List - II and select

the correct answer from the codes

given below :
List - I

a. Primary 1.
activity

b. Secondary 2.
activity

c. Tertiary 3.
activity

d. Quaternary 4.
activity

Codes :
a

(A) 1

(B) 3

(€C) 3

(D) 2

List — II
Manufacturing
industry
Research

Agriculture

Services

NN -
— BN Wo
N Do

What is “Estanica” ?

(A) A large estate of cattle ranch in
South America

{B) Tea plantation in Sri Lanka
(C) Coffee plantation in Brazil

(D} Banana garden in Guatemala

90. <&lol Yaololl Riglodtall Yyt 1] Wed

91.

92.

93.

(A) walazgfla Aol
(B) GHALsoU [Astd
() &l cacran
(D) slot €340 s

Aultlolloll @Asid U] A wlloret

AW2A
(A) dAltalell Gualal

(B) duuslell sinagl
(C) ddlltlollej UG
(D) A oltoll GUctotdl

YR-Tual YR A ASla 1A 20t
Slsell A wellel A,

YR-) YR -1
a. Yuls ygR 1. GcueaiGdlol
b. BlAa yg@ 2. Adluat
c. qda yg@ 3. A
d. ugalet ygll 4. «Isdl
sls ¢

a b ¢ d
A1 2 3 4
B)3 1 2 4
3 1 4 2
D)2 4 1 3

geel@u Ned g ?
(A) E@Q ARSI Wel wd
U ugulctat
(B) sllelstul ad Ule] cudd?
(C) woflenl ud Ao} cuddz
(D) RYAAHEAUHL Jouell el
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94.

95.

96.

97.

(et

Which of the following cold current
is of Indian ocean ?

(A) Agulhas current

{B) Canary current

(C) West Australian current
(D) Mozambique current

The conservation of resources
indicates

(A) Protection of natural resources

(B} To stop utilization of resources
on a large scale

(C) Protection of environment
and meaningful utilization of
resources

(D) Share the resources along with
proper utilization of resources

Which of the following gas is mainly
responsible for global warming on
earth surface ?

(A) Sulphur-di-oxide
(B) Carbon-di-oxide
(C} Methane

(D) Chlorofluorocarbon

Alexander, Humbalt and Carl Ritter
and Charles Darwin are the

(A) Explorers and Researchers

(B} Arab Geographers

(C) Greeks the pioneers of
pre historical index

(D) Father of modern geographical
thoughts

94.

95.

96.

97.

Al Aeunuiell 52 63l yae Rot
HELAWIRA & ?
(A) OJEELU Yalle

B) ¥odl yaue
(C) uEM wRQat Yad
(D) MULAS Yals

daltiolle] e Bed

(A) secll dautolle] &0

(B) a‘iwuo'ﬂou Wal W act Guost
oitl sclt

(C) Wlal20L of 28l A AUlkiotlall
eyl 0o GuAL

(D) dautelell euollerdlell 2o
GualloaL

Yool auidl uR dis Gulaliiststt
arl 12 olAounisll s ay
HAUHELR B

(A) UCHR SLASAUES

(B) stolel slalswe's

(C) Hl8let
(D) sA3 s stelel

AASHS2, s1Alee, sid dle
wat A R] stellot |l ARAuiel

565 Aulcll Hlal 1A B
(A) Ausdl ua A us
(B) R0 ¢lndridl

(€) yd-aldalls yusleil
ofls 21940l

(D) wuyls elloll@s [QauRtiist




98. For the following three types of maps,
identify the correct descending order

based on the scale starting from the
largest map scale.

(A) Atlas map, Topographical map,
Cadastral map

(B) Cadastral map, Topographical
map, Atlas map

(C) Cadastral map, Atlas map,
Topographical map

(D) Topographical map, Atlas map,
Cadastral map

99. The relationship of mean, mode and

median is shown as

(A) Mean — Mode = 3 (Mean — Median)
(B) Mean = 2 Median + 2 Mode

(C) Mode = Mean + 3 Median

(D) Median = Mode ~ Mean

100. Match List ~ I with List - II and select
the correct answer using the codes

given below :

List -1 List - II

1. Geology i. Pie diagram

2. Contour ii. Ogive curve

3. Occupation iii. Isopleth

4. Cumulative iv. Chorochromatic
frequency
distribution

Codes :

1 2 3 4
(A} i v i i
B)iii i iv i
() iv @i i i
D) i iv i i

98. Hl2l yHguell 23 s3l ol wley

o5l sHotLd IS
(A) Hecld ots2l, NS5 o5,

53¢ o159l

(B} 33%d olsall, 1auslsc oisal
W2A™ sl

(C) 332 oisall, BeclM ois9l |
Lo glset otsal,

(D) 2louslse «ts9ll, RNecty o159,
53 as9l

99. Hrus, HEARAU Ul wgHs ol
ol A2

(A) M5 — 0l = 3 (MHraus —
Htae)

(B) s = 2 He228 + 2 0lges
(C) olgEs = Hraus + 3 HEARY
(D) HRA = UgEs — HEus
100. YR T3 YR 11 } A 12
U SlsHI AR welol dAvll

YR yR-1
1. eRelRalit LW stam
2.l vy i aafly
alale
3. i, AW ESHAL
4. ARA wigR iv. AA8NAs
CREE]
5s:
1 2 3 4
A) i iv Qi il
(B) iii i iv i
(C)iv i 1 i

(D) i v i il




Space for Rough Work




